

EXPONENTS

$$X^a = \underbrace{X \cdot X \cdot X \cdot X \cdot X}_{\text{'a' times.}}$$

X = base

a = exponent

X^a = power of 'a'

PRODUCT RULE:

TO MULTIPLY WHEN THE BASES ARE THE SAME, WRITE THE BASE AND ADD THE EXPONENTS.

$$X^m \cdot X^n = X^{m+n}$$

Ex. $X^3 \cdot X^8 = X^{11}$, $X \cdot X \cdot X \cdot X \cdot X \cdot X \cdot X \cdot X \cdot X$

Ex. $2^4 \cdot 2^2 = 2^6$

Ex. $(X^2 Y)(X^3 Y^4) = \cancel{X} \cancel{X} \cdot Y \cdot \cancel{X} \cancel{X} \cancel{X} \cdot Y Y Y Y$

$$X X X X \cdot Y Y Y Y$$

$$\boxed{X^5 Y^5}$$

QUOTIENT RULE:

TO \div WHEN 2 BASES ARE THE SAME
WRITE THE BASE & SUBTRACT
THE EXPONENTS.

$$\frac{x^m}{x^n} = x^{m-n}$$

Ex: $\frac{x^5}{x^2} = \frac{\cancel{x} \cdot \cancel{x} \cdot x \cdot x \cdot x}{\cancel{x} \cdot \cancel{x}} = x^3$

Ex: $\frac{3^5}{3^3} = 3^{5-3} = 3^2$

Ex: $\frac{x^2 y^5}{x^1 y^3} = \frac{\cancel{x} \cancel{y} \cancel{y} \cancel{y} \cancel{y}}{\cancel{x} \cancel{y} \cancel{y}} = x^1 y^2$

ZERO EXPONENT RULE:

ANY BASE (EXCEPT 0) RAISED TO
THE POWER OF 0 IS EQUAL TO 1.

$$y^0 = 1$$

$$6^0 = 1$$

$$(7a^3b^{-1})^0 = 1$$

$$y^1 = y$$

$$y^2 = y \cdot y$$

$$y^0 = 1$$

$$\begin{array}{l} \textcircled{0.\overline{5} = x} \\ 5.\overline{5} \quad 10x \end{array}$$

$$\begin{array}{r} 10x = 5.\overline{5} \\ - \quad 1x = 0.\overline{5} \\ \hline 9x = 5 \end{array}$$

$$\boxed{x = \frac{5}{9}} = 0.\overline{5}$$

$$\begin{array}{l} \textcircled{0.\overline{54} = x} \\ 54.\overline{54} \quad 100x \end{array}$$

$$\begin{array}{r} 100x = 54.\overline{54} \\ - \quad 1x = 0.\overline{54} \\ \hline 99x = 54 \end{array}$$

$$\textcircled{0.\overline{54} = \frac{6}{11}}$$

$$x = \frac{54}{99} \stackrel{\div 9}{=} \frac{6}{11}$$

POWER RULE

TO RAISE A POWER TO ANOTHER POWER,
WRITE THE BASE AND MULTIPLY THE EXPONENTS.

$$(x^m)^n = x^{m \cdot n}$$

$$\text{Ex} \cdot (x^3)^2 = (x^3)(x^3) = x^{3 \cdot 2} = x^6$$

$$\text{Ex: } (3^2)^4 = (3^2)(3^2)(3^2)(3^2) = 3^8$$

$$\text{Ex: } (z^5)^2 = z^{5 \cdot 2} = z^{10}$$

EXPANDED POWER RULE

THE EXPONENT OUTSIDE THE BRACKET EFFECTS
EVERYTHING INSIDE THE BRACKET.

$$\text{Ex: } (2a)^3 = 2^3 \cdot a^3 = 8a^3$$

$$\text{Ex: } (6x^3)^2 = 6^2 \cdot (x^3)^2 = 36 \cdot x^{3 \cdot 2} = 36x^6$$

$$\text{Ex: } \left(\frac{x^2}{y}\right)^4 = \frac{(x^2)^4}{y^4} = \frac{x^{2 \cdot 4}}{y^4} = \frac{x^8}{y^4}$$

$$\text{Ex: } \left(\frac{2x}{3y^2}\right)^3 = \frac{2^3 \cdot x^3}{3^3 \cdot (y^2)^3} = \frac{8x^3}{27y^6}$$

NEGATIVE EXPONENTS

SIGNALS MOVEMENT OF THE NUMERATOR OR DENOMINATOR OF A FRACTION ACROSS THE FRACTION BAR.

$$\left(\frac{x}{y}\right)^{-n} = \left(\frac{y}{x}\right)^n$$

$$\text{Ex: } x^{-3} = \frac{x^{-3}}{1} = \frac{1}{x^3}$$

$$\text{Ex: } 4^{-2} = \frac{4^{-2}}{1} = \frac{1}{4^2}$$

$$\text{Ex: } -4x^5y^{-2} = \frac{-4x^5}{y^2}$$

$$\text{Ex: } \left(\frac{x^2}{y}\right)^{-3} = \left(\frac{y}{x^2}\right)^3 = \frac{y^3}{x^6}$$

* WATCH OUT:

AN EXPONENT APPLIES ONLY TO THE FACTOR IT IS DIRECTLY NEXT TO, UNLESS () ARE PRESENT.

$$(-3)^2 = 9$$

$$-3^2 = -9$$